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POLITICAL SCIENCE

( Honours )

Paper : POL-HC-1016
( Understanding Political Theory )
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Answer the following as directed (any ten) :

1x10=10
TS FRICHS e wRpi Ted it (R Gl wed)

(a) Who is known as the father of political
science?

JEifs R\ s=e &1 S @i =2

(b) “Man is born free and everywhere he is
in chain”—said by Aristotle/Hobbes/
Locke/Laski.

"R N 2 W 2; (8 TS ] Rk
I G PR CIRE R 5 /]G JAF
Gillicy

( Choose the correct option )

( == Seqt Jifz Sfereat )
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(c) The behavioural approach to the study
of political science was originated in
UK/USA/France/India.

JeAife @ SR [IG wks ke
FEGS /HEGPS /TS /o)
( Choose the correct option )

( wm TSI iR Sferea )
(d) Legitimate power is called as !
( Fill in the blank )

@Y TS el Rl =
(4T O oF w4t )

(e) Feminism is a protest against what?

TR e e sE?

(f/ Name one supporter of post-modernism.

Ceq-SYFFORT G& FLFT TN B |

(g9 In ancient Greece, City-State was called

( Fill in the blank )
S5t Hive FE-ATRE _ iEr G|
( 44 5f2 o3 w41 )

(h) Name one liberal theorist.
e it e | fera
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(3

(i) What is Liberalism opposed to?
Sriaitn ez Rt 2
(i) Totalitarianism
EEbIRIRIE]
(ii) Authoritarianism
T
(iii) Socialism
LRIEEILE]
fiv) All of the above

@9[{] e
( Choose the correct option )

( W= Sede! Jife Sfereat )

(i) Marxism regards State as a

TR AEe & I Ow?

(i) Natural institution
Hipfoe FE

(ii) Social institution
AT 7=

(iii) Class institution
It g

(iv) Welfare institution
eI A

( Choose the correct option )

( wm Teqe! Az Sfear )
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(4 )

(k) Which one of the following is not a
normative approach?

OE (I SIS /A=eaiene qiqe w29

(i) Philosophical approach
wrffe g9et

(i) Legal approach
RIESI)

(i) Systems approach
MEISRCREE |

(iv) Institutional approach

ATZIS Yt
( Choose the correct option )

( wa T 3 Sfreqt )

() Name one post-behaviouralist.

GG BE-SAGIRITT 5 ot |

(m) Mary Wollstonecraft is a liberal/radical
feminist.

@9 STREET @R TARAIR /5aweS
TR e |

( Choose the correct option )

(%% Tt 31f; Srent )
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(5

(n) “Democracy is a government in which
everyone has a share.” Who said this?

“slofog (202 G bl TIFIRl AfFER TS T
SRMEY SR | FARE I e ?

(i) Abraham Lincoln
RN fork

(i) Dicey

©izfo

(iii) Seeley
featt

(iv) Bryce

arp

( Choose the correct option )

( W= SwIn! AR Sfereat )

(0) Who is the author of the book,
The State and Revolution?

The State and Revolution «INF 83499
WIS (Fl5?

(p) Name one scholar of participatory
democracy.

SRHARCTENF ST G& TP T fordt |
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( 6 )

(g9 Who wrote the book, Leviathan?
Leviathan N9 31 ERF @7

(r) Mention any one feature of behaviour-
alism.

GHeeRvE 7 IE 96t @Ry SEd 349 |

2. Answer very briefly/Write short notes on any
five of the following : 2x5=10

fre Tad foral /oS PR R I *fisbr wif
B Gt ot

(a) Mention two scopes of political science.

Fe-ite R 951« S 41|

(b) What is the first wave of feminism?

A AT (G 52

(c) Name two proponents of libertarianism.

e o AT W ot |

(d) Bring out the sex-gender distinctions.

AT fort et AW foma Aww Pz
ferat |

(e) Historical materialism

afs2iBe wem
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() Did post-behaviouralism reject behav-
iouralism?

TET-SoARIT SIS AR e
IRe?

(g9 What was the central thrust of
enlightenment project?

G SeHeTe 1o @7 [Kaw i wifke?

(h) Mention two major devices of direct
democracy.

Ao SiTeEd ol ¥o T 62

() What is First Past the Post method?
AU (5IR @RI w52

() Michel Foucault
fieer cPIe=s

3. Write short notes on any four of the following :
5x4=20

woro frpRd [ Pt Do e o Gret o -

fa) Class struggle
feaial i) 1)
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(b) Elements of post-modernism

CeT-IRFORIT SeiiPTeE,

{c) Challenges to the idea of democracy
SlTCFY Y9 SIS TR AR

(d) Behavioural revolution

HIeRME [ed

(e) Participation and representation in
democracy

NTOFS SRR ST AfSHfYg

() Features of historical approach

afozife TR whiEre

(g9 Marx on democracy

HTeFq SRS T 4¥e

(h) Traditional view on politics

A @[S Aq>fa1sTs 7ivsH

A23/449 ( Continued )




4. Answer any four of the following questions :

10x4=40

woTs il o R Qe oif Rt Se fBret

(@)

(b)

(©

(@)

A23/449

Define political theory. Discuss its main
features and dimensions. 3+7=10 -

JEiroF ©FF T | 2719 A4 @RE o
FrepTRs @oS et 34 |

What is liberalism? Make a comparative
analysis of classical and modern
liberalism. 3+7=10
Tnigam [ F7 RIS Wi S Srieing

95l eI T Wi 4@t

Attempt a critical appraisal of libertar-
ianism and explain its key ideas. 10

b (1 5 IR B )11 O K
SSRTERI SF 2[R AL Qe B

Describe Marxist view of political
theory. How does it reject the liberal
view? 6+4=10

qoree ©g9  WER  gEewm  IfM w9
3 @CIT SHIEmE A FE?

{ Turn Over )



(e)

(9)

(h)

A23/449

( 10 )

What is an approach? What are the
traditional and modern approaches to
political theory? 2+8=10

et 7Rl 59 AEiAfes ©eq A[qEsHiae
e iy iR 5 52

Critically examine the main features of
feminism. What are the differences
between liberal feminism and radical
feminism? 5+5=10

A dGT EEEPEE TEIEISIG 7eE
S M IR o R o e
T Ee A & {9

What is post-modernism? What are its
salient features? 4+6=10

(I B RIS R A B S B (B
f 2

Discuss the concept of democracy. Do
you think India is a successful model
of democracy? Explain. 5+5=10

ATOZ YIFENCE! =D Tl | SlToF ey
SITegT we it SR ? [ 40 |
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(11 )

(i) What is the deliberative theory of
democracy? Discuss its key features.
4+6=10

DA oITeEs ©F [$7 WK T @FEPEE
St 41|

() Examine the principles of procedural
democracy and discuss the case of
procedural democracy vs. substantive
democracy. 5+5=10
AfFgiTe A AGoNS oITeFd AMOTR IR

9 O dfFEee e N G A e
8*q® Gl 91 |

* & K
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